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AR 1:
fafifeaa Semsi & aTl & SH1s & 3P 1 H?
(i) 81 (ii) 272 (iii) 799 (iv) 3853  (v) 1234
(vi) 26387  (vii) 52698 (viii) 99880 (ix) 12796 (x) 55555
g.IWI1:
() B1HSHE P WFWRITAIR 1P =1
3(d:, 81 & T T SPHI3 P 3 1 BTN
(ii) 272 W SPE S MW 2§ 3R 2H1 I = 4
3{c:, 272 & a1 H SIS BT 3 4 BT
(i) 799 H 3PS ™MW 9 § 3R 9 & a7 = 81
3fc:, 799 & 1 | IPTs BT 3 1 T
(iv) 3853 SHR P RMW3IGIRIHBTIN=9
3fct:, 3853 & ¥ H IS BT 3 9 G|
W) 1234 T3P P VW4T AR 4B T = 16
3(d:, 1234 & oF § SHI3 o1 3 6 BT
(vi) 26387 H3HIE & WM W 78 3R 7 BT =49
3(d:, 26387 & Tl H SHTS PT 3H 9 BATI
(vi) 52698 T SIS & WM W 8 § 3R 8 HT I = 64
3{d:, 52698 & T T SHTS BT 3idh 4 BT
(viii) 99880 3P P WHTR OB MR OB T =0
3{d:;, 99880 & a7l T SHIS BT 3 0 BT
(ix) 12796 HIHIS & MW 68 3R 6 B a1 =36
3fc:, 12796 & ¥ § SHIS HT 3P 6 BAT
(x) 55555 7 gohTs & WM R 58 3R 5 H1 a7 = 25
3{d:, 55555 & a7l H 3BTs B 3 5 BT
A3 2:
frafoied Tt Wy ¥u § guf ol W= 781 §, 3961 SRl $ifd |
(i) 1057 (i) 23453 (iii) 7928 (iv) 222222
(v) 64000 (vi) 89722 (vii) 222000 (viii) 505050
€3 2:
() T S & b T =0 ¥ quf oFf Seafi & 3@Ts & 3F 0, 1,4, 5, 6 AR 9 Bl
&1 78T, 1057 &1 SH1S &I 3 7 §, 3d: I8 W U I guf ¥ =&l 5|
(ii) TH WA & b T¥ ®U 3 guf 3 GB13fi & b1 & 3(b 0, 1, 4, 5, 6 AR 9 B
&1 T8l 23453 &1 3PIs & 3/ 3 , 31d: T8 WY ¥U J guf 37 7ef 8|
(i) T A € 5 TP U § gof o Hemeit & P & 3 0, 1,4, 5,6 IR 9 A
2| T8l, 7928 1 3H1s &I 3 8 §, 31d: g WP U I gUi a¥f gl g
(iv)  ©99Md § [ W F9 9 quf a7 Ge1sii & SP1s & i 0, 1, 4, 5, 6 3R 9 Bl
21 T8l 222222 BT 3PIS BT 3 2 §, 3(d: T8 WY &Y T I 371 781 3
) §H S § o Wy &Y 3 gulf 7 G&1efi & 18 o 3b 0, 1, 4, 5, 6 AR 9 B
&1 T8T, 64000 T 318 1 3(eh 0§ 3R 3HT3 b RIF W LI 99 F@ H (@, TR,
@: T1 3M13) B ALY, TR TeT o I 71 30 T8 Wy wu 4 guf anf i 81
(vi) UM ¢ o Wy U 9 ol a7 Teei & gdIs & 3F 0, 1,4, 5,6 AR 9B

21 g8l 89722 T SPhT1S & 3/ 2 8, 3Ic: T WY =Y J Ui a7f -1el |
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(P& - 8)
&9 S & b Wy =0 ¥ gl ovf Semsii & 3@ & 3F 0, 1, 4, 5, 6 AR 9 Bl

(vii)
& | g, 222000 BT IHTS P 3 0 § 3R 3PS & WM W Y TH G&I1 H (@,
IR, B: T H3) §F 16T, TR T8l oiF LA ¢ | 3fd: T8 WP FY I guf a7f el &
(vii)  EH A & & TP & § gof o Semeit & 51 & 3 0, 1, 4, 5,6 IR 9 B
&1 &1, 505050 BT IHT3 P 3 0 ¢ 3R 3PS P WIH R L ¥4 I H (@,
AR, B: AT 3H3) B A1feT, TRg 81 U Y | 3f: T8 WP ¥4 I guf a1f 781 3|
M3 3:
fFrafeRad dwemelt o ¥ farg T &1 o fawd g
(i) 431 (ii) 2826 (iii) 7779 (iv) 82004
.3 3:
(i) 431 W 3Pl S MW 1§ 3R 1 HTa¥ = 1, 3(c:, 431 HT 7 fawm g
(i) 2826 W 3PTs B WF W 6 8 3R 6 T = 36, 3, 2826 H1 I7 fUH & R |
(i) 7779 W3PS S VMW 9 ¢ AR 9 HT T = 81, 3fak:, 7779 HT I fduH S|
(iv) 82004 H P & ”M W 18 3R 1 BT T = 16, 3(d:, 82004 HT1 I faww 751
B
A3 4:
% ufeRey &1 sradie Sifvg 3R e =IF YRe:
112 = 121
1012 = 10201
10012 = 1002001
1000012 = y O
10000002 = O A
. 4:
112 = 121
1012 = 10201
10012 = 1002001
1000012 = 10000200001
10000002 = 100000020000001
AR 5:
19 ufeRey &1 s/adieH Pifoe 3R Rad =M 4RTE:
112 = 121
1012 = 10201
101012 = 102030201
10101012 = oo
sspstssssri iR 10203040504030201
.3 5:
112 = 121
1012 = 10201
101012 = 102030201
10101012 = 1020304030201
1010101012 = 10203040504030201
A2 6:

fau T UfcReT &1 ST FHRd §U W TS B U BHiforg:
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12+ 22+ 22=32
22+ 324 62=72
32+42+122=132
42+ 52+ 2=212
52+ _2430%=312
624724 2= 2
€. 3R 6:
12+22+22=32
22+32+62=72
32+42+122=132
42 + 52 + 202 =212
52 + 62 + 302 = 312
62+ 72+ 422=432
AT
i1 Hferar fae a1 A F1d Sifeie:
(i) 1+34+547+9 (i) 1 +3%54+7+9 % 11413+ 15 4717 % 19
(iii) 1+3+5+7+9+11+13+15+17+19+21+23
E.IWR7:
(i) T8l 5 SHNTd fawe Sl 4 faar 8 S9feT 5 &1 &t = 25
L 1+3+5+7+9=52=25
(ii) Tgl, 10 SHHNTA faww TReamedt anT foan § gafere 10 &1 9 = 100
S1+3+5+7+9+11+13+15+17+19=102=100
(i) el 12 HHrTd faws Twearelt an foan § safem 12 19 = 144
S143+547+9+11+13+15+17+19+21+23=122=144

A3 8:
(i) 49 H1 7 faww JEef & 9 & ¥u ¥ fofau |
(i) 121 @1 11 fqwm Jeamsii & am & w0 H fafau|
€. 8:
(i) 7 &1 T = 49, SHIAT 7 HHNTT [quH TBsfi O 49 B
49=1+3+5+7+9+11+13
(ii) 11 &1 af = 121, 3TN 11 HAF faww T=msf o 121 81
121=1+3+4+5+7+9+11+13+15+17+19+ 21

AT 9:
fFrofefad Temsit & arf & dte A fea e 87

(i) 123fR13 (ii) 25 3fR 26 (iii) 99 3R 100
£.3Ww9:

(i) THIFAEF n’ 3R (n+1) F o dFA = 20,

Tel, n =12,390C, 12 AR 13 FTIH YW = 20 =2x 12 = 24
(i) THSMAG P n* 3R (n+1)" & <9 J G&AMT = 20,

Tgl, n = 25, 39T, 25 3R 26 F S H YV = 2n =2x 25 =50
(iii) EHWMA g [ n? 3?[?(:14—1)3 & &9 § =AU = 20,

Tgl, n =99, 39T, 99 3R 100 & & H TWAMW = 2n =2 x99 = 198
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